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Procedure for randomly sampling a cut.

① Let S = (5 1. -- ,Sa]
T = Sty --th

② Choose p unit random from

&t , t , t , . . .,
G
- (10g , 1213

③ Sample WESUT be selecting
each element of sut indep
with probability P.

④ Sample ver Unif (1).
⑤ Let A =Ev/disty (Will < r3

B = VIA
outputTh@Gedges from A to B3.

·
I

edges & tz
--



distx(E) means

mind length(i)) O rate)

Analys

Sega. E[cap()) => [cle)x
.

/

[cel PreeD
e

If e = (4 , r) than the event

eeC happens of and only if

radius r lies in the

iteral from dist
,
(Wul to dist(Wrl

P-(e+C) = /dist(Winl-diWi
& Xe



I

Ste2 : Elsep(H

: Focus onElparate si;
from til

ofteneitTasti ↓ radius 3

- -

def U = GueSuT(dist, su ,Estikls]


